BERE- T2

80 1AY-YHTHLAEEE

L N = 1 )\ | T: I') n{
“IE{AL %Bﬁﬁlfﬁ %I-SFH/REE 120 -
() =) 115 r
2 H 9.66 1o |
14t & & 25.67 105 -
2 B 1% 17.85 &| 100 -
3 E W 16.52 o5 |
41 16.42 : r/.//-/’/'/.
5% 16.00 90
6 F & 1545 | 2| 85
78 1R 15.23 oﬁj ‘ .
8 H 15.20 0 5
9 = m 15.10 T2 23 24 25 26 27 &g
10 &8 3 1496 | ® | ~B8E = 2 |
11 F# W 13.97
12 5 VN 13.88 =g )
13 W m] 13.33 L5 m
1485 13.09 | # E = Py Z 5
15 8% & 12.95 F 22 10.77 9.11
16 % & 12.95 F k23 11.06 9.20
7mE B 12.68 F 24 11.29 9.32
18 & & 1231 | # %25 11.43 9.43
9 & & 11.97 F £ 26 1153 956
20 18 5 11.66 F 27 11.66 9.66
21 ER B 11.42
2 B B 11.33 B H JE 1z | #B & T2 NEE
25 F 11.20 2 [E 86.99
24 & 1% 10.82 1 |® = 571.00
5L B 1034 | B |#AE% 2 |f = ) 505.85
26 K » 10.30 (A {EH EFE100kn 2 7=1) 3 | K i3 473.40
21 E 7 10.23 €] 41 = = 26.87
28 b b 1022 . 45 (1L ET] 21.27
29 1k =) 982 | = 46 [{& B 19.32
I B 9.57 47 |Fk H 18.16
31 E A 9.46 B B Bz | #R38 FF 12 NE
32 1 A 942 | & = 69.78
33 % W 9.18 1 |=E = 447.76
34 = = 9.14 HRAEH 2 |# = 431.26
35 18 i#d 8.98 (AT EH EFE 100km 2 7=1) 3 |X i3 406.36
36 # = 886 |1= Gl 43 & = 17.62
37 % M 8.34 45 (B¢ H 12.98
38 HE VN 7.95 46 |l £l 12.68
39 F b3l 7.60 47 ik i 11.01
40 = # 7.27
41 1 3k 1 7.21 BT A T AR R
2% 5 710 | gy | -BESA:TRIFE
43 15 £ 6.84 RERY-EE
44 F ¥ 6.55 B B AEEE S ADBK
45 M = )| 5.38
46 K IR 524 | %
47 &’ = 432

-80-




